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() y(t) = cos(mt)(u(t + 1) — u(t — 1)) * u(t)
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Figure P2.39. (c) Graph of 2[r] and h[t — 7]
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Figure P2.39. (d) Graph of 2[r] and h[t — 7]
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2.47. Let hy(t), ho(t), ho(t). and hy(f) be impulse responses of LTI systems. Construct a system with
impulse response h(t) using hy(¢), hz(t), hs(t), and ha(t) s subsystems. Draw the interconnection of

systems required to obtain
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Figure P2.47. (a) Interconneetions botween systems.
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Figure P2.47. (b) Interconnections between systems

(€) hlt) = by (2 » {ha(t) + ha(6) » ha(t)}

—{hw

h(t)

[n@

h(0)

Figure P2.47. (¢) Interconnections between systems
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(a) h(t) = cos(mt)
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Figure P2.33. (b) Graph of x[k] and hfn — K|
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